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T YEAEe Atrard B | (All questions are compulsory)
. feguat faa &8 ad@r TeAEedl SW ﬁ'ﬂ?ﬂ{ | (Observe the given

figure and answer the following questions.) WV Z

a) feguar Feawnr @faelier @vEe S 7 (How
many angles are there in the figurc?) (1)
b) & o FHIUrHl ATH FEerq | (Write the name of
all the angles.) (1)
c) WY FIVESH! HI GreFeadl Feraard T Y X
AETEIY | (Write the value of all angles using the protractor.) (2)
d) FA-HT ASIHITHT WA G G ! A€ | (Which pair angles
value are same? Write them.) (D
2. fegust fa waeiie TR T T Yeeedl IR
W&eId | (Observe the given figure and write the
answer of the following questions.)

a) feguat feaar AT | @Y | (Write the name of

given figure.) (2) ‘
b) it famps ¥ fFaREes denm degEd | (Write
the number of vertices and edges.) (1)

3, YRTErH & ATEET 200530 & T (The total population of Ghorahi
‘is 200530)

a) 200530 H1 §3’cﬁf IERIC] ﬁtﬁm'({ | (Write the place value of two in
200530) (1)

b) I HWEATETS MY YA @R eafeRIA (,) 1 TN M Aefer |
(Write the number according to national system using comma (,). (1)

c) TEAT 200530 TS AT HERAT A& | (Write the number 200530
into Nepali words.) 4]

d) fegusr Hereng amRifey 9giaaaRr WA qrfdaera I&(d



TREF | (Present the given number in the place value table according
to the international system.) (2)

4, feama Tlﬂ?l'v!{: (Solve the questions:)

a) A HFd T AT W1 W@ AR | (Write the greatest number
of three digit.) (1)

b) J&T 12 T 16 TP UIavees oefal« | (List all the possible
factors of the number 12 and 16.) (2)

c) U&F YIEfid Gl AC{eI® 57 7 ¥¢ & 7 d Wdch Her &1 | (Write

a natural number that is neither prime nor composite.) (1)
5. feqma @ ¢ (Solve the questions:)
a) WIS TR : (Simplify:) 5x3+4-5 (1)
b) "I e T @& eI | (Write in mathematical expressions.)  (2)

12 % 3 TUITHT 7 SISAT I g7 7 (How much is in total if 7 is added
to 3 times 12?)

¢) X TRY AfraH AT MaTeerd : (Simplify and find the result.)(1)
6. f&dmar TER : (Solve the questions:)

a) feguar fr=ieirs gfar 9RT SE@ISEld | (Shading and find the result of

the given fraction.) (2)
I 3
—_— — = + =
6 (/]
b) 50% &g f=aT Tefer qerAAEAT dE e | (Convert 50% into fraction
and write in decimals.) (2)
¢) IO eI : (Multiply:) — Days Hours (1)
5 7
X 4

7. AR Gl W Yede arel (FFARTSN) awars 25 e @1 (The
lenght of each side of a square shaped play ground is 25m.)

a) @« Harar aikfufa f&TeTerd | (Calculate the perimeter of the play

ground.) (1)
b) UH ATAHI &Ahe [HETeare | (Calculate the area of the play
ground.) (1)

c) U« AW Ty B 5 MHetar ardt ey faua @ | 9 A
ARHH G Al IRMATT I=r MSTerq | (What should be the

perimeter of the remaining ground if a uniform path with 5Sm is kept
within the ground?) (2)



d) TS NHATEFR HATER agr awrs § frer, dier ¢ firer 7 3
3 feT g 1 geEaE TEIET ATAAT Ul ?WHT[?T'{ | (Find out volume
of'a match box which is cubid and which length is 8m, breadth is 6m

and height is 3m.) (2)
8. feama n'fia‘m . (Solve the questions:)
a) I8 TERL | (Add:) / 3 (1)
J 7 + 5 ;T

b) feguat Faemr gt aivat swrrers Premmn ot gfaeramr areEe |

(Write in fraction of the shaded parts of given figure and change into

percentages.) O . . e (2)

¢) T BT 40% TIAEE B 7 G Sfererar Hem qxil eS| (In
a class there are 40% girls, find the percentage of boys.) (2)
9. T faguar e Fra@r o T WTE JrEee ST detEr |

(Study the given bar graph and answer the following questions.)

A
40 -4~

30 -¢- h

20-4-
| Ini=l
= T ' v

I 1 v

Y
a) ®e [ A1 Ffa &1 fremdt 87 7 How many students are in grade

111?) (1)
b) F&T | |1 Feqm V AT =1 Hia afe famrdt 8 7 (How many more
students are there in a grade [ than in grade V?) (1)

10, qATH afvarat wifed ar=rl T @=er faaor a9 frgear @
(Monthly income and expenditure details of Muna's family is given
below:)

AT 7fo¥3?7 (m) G e (Ex cInIZtur'
(Income details) (Rs.) (Expenditures details) [V P (Rs.) es)
wifwa A1t (Monthly Salary) 50,000 | & (Food) 20,000
it 4T@1 W31 (Monthly House Rent) [ 56,000 | frar (Education) 45,000
4% @I (Bank Interest) 35,000 | @rATAT (Transport) 5,000
faiau (Miscellaneous) | 7,000




Q) AR Y Rl ﬂ“‘ﬂ?ﬁ[ﬁm I (Find the total income.) (1
b) W @ T A @ T @EEEE ) (Find the total expenditure
and saving amount.) (2)
¢) UTa Ay Fy=ron 8 20,000 @9 UG A At Jus g
a9d &l & 7 (What should be the saving amount after spent Rs,

20,000 on medical treatment?) (1)
11, Feern waraveeed awre fGgum &0 (Inthe figure the length of line
segments is given.) (3)

A B C D

| I I I

| Ja I daed | Sa-1 l

a) TEEYE CD & TEEHT Faser 99gs g 7 How many terms are

there in the length of line segment CD. (N
b) af7 4=2 T (da+3)+(5a-1) &1 HIF gl H"ﬂ?‘f&fﬂ | If a=2, find the
value of (4a+3)+(5a-1). (2)
c) & TERL | (Solve:) x+4=9. (1

12, fewma TITIG'R( | (Solve the questions:)
a) GTAT TAIHT A FIT a1l 7 What is the value of empty box? (1)

C+7=12
b) P & HIF 9=l iTﬂWR{ I Find out the value of P. (1
p-5=9
b) 2v+ Ty - 6 & AW TAT AMS(ery | &l x=3 T y=1 B | (Find the
value of 2x -+ 7y - 6 where x=3 and y=1.) (2)

THIST (The End)
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